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¥ 1R fE W 65 95 160 — 2 K 3 T H 233 273 506

F i 4 1E F W] 48 45 93 | jgpemy — < A4 T H 243 280 523
=tz b BT 52 61 3|7t — 2 K5 T H 33 380 716
FIWHWMELT B 172 202 374 /I i 1,024 1,138 2,162
# & FHE B2 T H 159 185 344 W % 2 T H 352 425 777
FIH M M3 T H 446 560 1,006 |[[EAEFE2 = #% 3 T H 204 224 428

s ET RS oD — 35 6 6 12 /I G 556 | 649 1,205

oA BT o — 0 81 101 182 A BT 123 | 162 285
/I 3+ 1,029 1,255 2,284 W % 1 T H 87 101 188

mEEIL F R A K B 16 16 32 — & BT 65 78 | 143
(24 K B 376 461 837 J\H T ¥ W 146 175 321
H Z BT 211 | 242 453 Kot 1 T H 57 57 114
B AP BT R A8 253 279 532 [JREEE3 K fE iy 2 T H 75 88 163
= oA BT o — F 230 263 493 KXo 3 T B 114 141 255
O R o — ¥ 149 161 310 Ko 4 T B 190 234 424
/I 31,219 1,406 2,625 B o# 1 T H 163 193 356
Ty i} By 272 317 589 Bo# 2 T H 169 189 358
Aot = W 64 82 146 /I 1,189 1,418 2,607
% BT 248 302 550 w W 1 T H 132 184 316
EEF2 PhHAGERITO— 42 34 76 w W 2 T H 83 102 185
B BT o — #0605 688 1,293 it A My 105 137 242

8 BT o — #8157 201 358 W% 1 7T H 211 264 475
/I G 1,388 1,624 3,012 ® % 2 T H 131 176 307
Z s Wy 171 212 383 (R & w & 3 T H 169 161 330

M A 1 T H 203 226 429 il 5] 17} 2 3 5
M A 2 T H 308 369 677 W@ 1 T H 98 130 228
e 1 Ml A& 3 T H 240 287 527 Moo o2 T H 136 188 324
& JI my 32 39 71 W@ 3 T H 115 155 270
£ H BT 801 957 1,758 /I & 1,182 1,500 2,682
g HE T o — 0 76 109 185 WoB 4 T H 393 487 880
/I 2 1,831 2,199 4,030 ~ % 1 T H 150 179 329
o) | L 6 4 10 — % 2 T H 63 75 138
A W 1 T B 190 264 454 MR — % 3 T H| 185 228 413
& W o2 T H 131 179 310 — % 4 T H 69 90 159
Hm$E2 = ¥ 3 T H 129 171 300 + A% 1 T B 150 182 332
w k1 T H 89 115 204 + A B 2 T HBH 161 175 336
w2 T H 317 416 733 /I 7t 1,171 1,416 2,587
/I G 862 1,149 2,011 B 1 T B 147 157 304
oW 1 T B 173 225 398 B 2 T H 233 291 524
1 oW 2 T H 242 301 G543 |"HEE2 = JI 1 T H 158 196 354
’ oW 3 T H 181 223 404 w o) 2 T A 126 169 295
/I G 596 = 749 1,345 /I G 664 813 1,477
fis JL 1 T H 559 654 1,213 o0 B o — BB 2 7 9
ArEE2 M L 2 T H 479 550 1,029 - 5% Bf 75 151 226
/I 21,038 1,204 2,242 L “HEATHO— 24 27 51
fis L 3 T H 425 503 928 + A ¥ W7 191 206 397
AHEHE3 M 7T 4 T H 580 659 1,239 d+ A ¥ 3 T H 286 344 630
/I 7t 1,005 1,162 2,167 /I 7t 578 | 735 1,313
s, — 2 A 1 T H 122 120 242 -

BEAEL 7 K2 T R 90 35 175 . N = 15,348 118,433 133,781
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FEX A my 4 B 7 Al [RERXA 4 B 58 iR
G t W 524 534 1,058 | VHARFH3 K i my 23 34 57
(O, M7 309 338 647 | BAE4 K Fr mr 30 32 62

i ffi% {;g E ggg ?gg ng X PFr 3 17,991 19,943 37,934
T By M] 543 594 1,137 — R OHW & F 182 179 361

/I i 2,449 2,619 5,068 | —FLF1 — R BT JL 143 152 295

X E K S M 1,143 1,311 2,454 /I R 325 331 656
#OH A & A BT 397 439 836 T RE PO — 572 620 1,192
oA 1 T H 89 101 190 | —REFE2 — R W] 4 — {4 443 | 467 910
MO 2 T H 154 165 319 7 R 1,015 1,087 2,102

R 1 O 3 T H 146 150 296 — R OE X B 244 288 532

a MO 4 T H 138 161 299 — R OWT = H 269 269 538
# A 5 T H 131 155 286 — 3 “RETIUEEO 23 19 42
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s t 1,139 1,262 2,401 T REE O —H 14 14 28

= T BT 720 792 1,512 /N it 1,011 1,111 2,122
/ﬁéﬁ[ﬁ%2@ BT 400 435 835 T RETIUEEO—F 157 176 333
- H i M 386 369 755 — R OH 3 o 310 352 662
/I i 1,506 1,596 3,102 | “R&4 — RLET /5§ o — ¥ 47 47 94

A3 — @, M7 436 476 912 —OROBT & oo i 4730 492 965
% H BT 1,014 1,163 2,177 /I it 987 1,067 2,054

i1 JIH BT 168 201 369 _ NN oL
A1 (s 1 A 332 379 711 TR A X opr B 3,338 3,596 6,934
/I B 1,514 1,743 3,257 b fROWT s oEm 731 840 1,571
X o) M7 309 360 669 [/IMEHFL ANRETARET O —¥F 1,211 1,363 | 2,574
A 1= IN H] 226 260 486 /I it 1,942 2,203 4,145
JEis il My 244 296 540 [/MREE2 /N R W] ¢ WP 1,613 1,784 3,397
/I G 779 916 1,695 IIMEETFE A O — 5 406 462 | 868
OB e BT 845 882 1,727 [/IMREE3 /NMEWTARBT O —EF 487 594 1,081
Ui (L BT 69 69 138 7 it 893 1,056 1,949

BRI B BT 263 318 581 IMEETFE A O —F 299 319 | 618

OB o — 1 1 2 IINMEET R BF O — 5 432 356 | 788

/I Z 1,178 1,270 2,448 AN % BT M 927 0 998 1,925

B d% WP 586 659 1,245 e, v fROET BT A 251 283 534
o B 5 W92 110 202 |TPVPRUNEErHA — W 117 123 240
- v BT o — 0 1 1 /N A% BT B kS E AT 9 7 16
/)N G 678 770 1,448 /N A% BT B R A )1 13 16 29

el A 1 BT 473 529 1,002 /N it 2,048 2,102 4,150
Rl s BT 790 891 1,681 2 il B 95 114 209

iR R JE R © — 5 33 38 71 | /MRS NEBTEHBF o0 — 5 1,549 1,620 3,169

/I i 823 929 1,752 /N R 1,644 1,734 3,378
AR dE W A98 SMLLOLZY e e s % B B 8,140 8,879 17,019

fersms 1 Al 202, 201 A8 e .

oA BT o0 — ¥ 98 103 201 |fHEEEE1 I EET S M o —E 723 829 1,552
AN 798 818 1,616 |HEFE2 #HEMT &SmO —F 606 658 1,264

WRHEFEL E Hh My 1,103 1,187 2,290 i BT & & 682 768 1,450
e B BT 290 340 630 | %53 48 Bl £ 1 B 354 372 726
Hh H BT 521 606 1,127 /N R 1,036 1,140 2,176

YR E2 )1 Uit My 173 0 209 382 i BT 3 PR 458 512 970
L oH BT o — ¥ 238 257 495 B4 i BT b f& 371 421 792

/)N i 1,222 1,412 2,634 A% BT /N Ak 250 238 488

H TT BT 264 301 565 /N Ei 1,079 1,171 2,250

g1 B il . E OFf 825 LOZ| g i 46 & % P73 3,444 3,798 7,242
/I R 1,012 1,210 2,222

PUAREE2 5 HE M7 443 482 925

PUSREE3 e N BT 568 596 1,164

WAREL = g BT 451 513 964
M JEE B 178 199 @ 377

BARE2 4 my 45 39 84 w45 F 48,261 154,649 102,910

/N i 223 238 461
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il £ OERk1T4E11H2TH 109,293 80,678 73.82
il % 2 % B ERk1T4E11H27TH 109,293 80,680 73.82
il £ ERk184E 4H16H 108,645 35,963 33.10
= i B N O ERK194E 45 8H 108,995 61,399 56.33
= ®H B % &= % B P9 4H 8H 108,995 61,337 56.28
Z i bt i B (2 2 X)) CERRLI9E TH29H 109,568 65,149 59.46
Z o bt B (B X)) ER9%E TH29H 109,568 65,149 59.46
b B (/N ® %K) ERR214 8H30H 109,072 79,563 72.95
Kbt B (e f R ER) ERk214 8A30H 109,072 79,552 72.94
il £ Epk214E11H15H 108,288 72,433 66.89
i % 2 % B Epk214E11H15H 108,288 72,437 66.89
Z W bt ik B (2 2 X)) CEpk22fE THILH 108,917 65,209 59.87
Z i bt ik B (e f X ) SERk224 THL1LH 108,917 65,209 59.87
= i B N H O OERK234E 4H10H 108,182 52,735 48.75
= ®H B & éa\ OB Fpk23fE 4H10H 108,182 FilZ R
Kb B (/&% X)) FE24FE12H16H 108,045 66,828 61.85
K btE B (K {ﬂ X #£) k244127 16H 108,045 66,830 61.85
Z i bt i B (2 2 X)) CERk26E TH21H 107,848 60,362 55.97
Z i bt ik B (e f X ) SER25H TH21H 107,848 60,361 55.97
il £ k25410 H27H 107,119 65,552 61.20
il % 2 % B k25410 H27H 107,119 65,548 61.19
b B (/N ® %K) ERk264E128 14H 107,458 61,207 56.96
Kbt B (B ER) ER26412A 14H 107,458 61,203 56.96
= i B N H O OERK27TAE 4H12H 106,491 51,445 48.31
= ®H B ¥ &= W B CPEeTH 4H128 106,491 51,178 48.06
Z W bt i B (2 2 X)) CERk28%E THI10H 109,061 63,583 58.30
3 T = < tt @J X ) SERk284E 7TH10H 109,061 63,584 58.30
e EH b E B (/] % X)) ERK294E10H22H 108,198 59,490 54.98
Kbt B (K {ﬂ ﬁ ) FRk294E10 A 22 H 108,198 59,488 54.98
il £ ERR294E10H29H 107,512 FilZ R
il % 2 % B FERk294E10H29H 107,512 54,975 51.13
= i B N O OERKSIAE 4H TH 106,178 39,253 36.97
= ®H B ¥ &= % B CPESIH 4H 7H 106,178 FilZ R
Z i btk B (% X)) SFocH TH21H 106,694 54,044 50.65
Z btk B (W f X ) SFocH 7TH21H 106,694 54,043 50.65
= EES 28 ga = 450 34E 9H12H 104,560 39,285 37.57
K btam B (/) ®2E X)) Sf 3E10H31H 104,885 63,085 60.15
Kbt B (W p R ER) A 3F10A31H 104,885 63,083 60.14
il £ 40 34E10H31H 104,242 il LS
il s = fii5 B 4f0 34E10H31H 104,242 62,241 59.71
Z i btk B (3 % X ) 4Sf 449 THI0H 104,487 53,752 51.44
Z @btk B (W f X ) AF 449 TH10H 104,487 53,750 51.44
= ®H R B &= & B 05 4H9H 102,654 41,941 40.86
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